T 0rum 2 Lwartn Algefron I, 1342020
W [22/L25

LAl AR b VXU K

\V sor oo M-UR
Livantod 1

2.9, Lase weV ! body b \[ok
v MW, w\
M/ s & /@(o“l},« /Lv rw\

= O(Q/(’\f,,/lm kv,
(Bl'z/:v\ﬂu’% /L )
b 6lia s > V«,/Lél( Vf\fn/m/w{\/f 1}(0{4},%‘/415,4;\ = o(?/('\f,,,/lm) ALY UMY
"W{ V«,/Lél( Vﬂfqu,wé\/f 1%(% ow,*/évﬂ = o(ff(’w,‘v /H//W'V
iwn%j

b VVAK Afd DotemimaXt i bidm, (s
'/ b Mo, 0 ﬂ/»[emm/ = §(x A7 0

L, b hbm'au%/
o< 7/14/7 © f(x 7)“*&/ X) Ab. i le, A
2
/

!&W‘i sym\isd o ) 2 040 S Al eV
6 I \/X\/»ﬂk//d) W!a;fxq'/hm ,r7L <t bl apay,
win Kf[lf-” LR ~ by 000020 haton !

D S bR Sy bl Dy Asifit 0 poribiv dofim
dlls ﬁ(x,X)’o wd  Lxx\=0 & x=o

W bt el SP b synm , f (E)lsar, 0 pos. dbfidt
4\ xVaR

Wl R-NR Y i willpm SP <05 Lenfsl eukbdysflec Ko
X/ = A<x xS

Ao, L;nr Uon X



Aofgsbe: U% (bf(c'kmay(w\,ﬂm ver | [ (MZ ’i@ V’IR
ny[{Z Fhun K& Kl)y ( )

6/Mm2 Dwt{wymml. 5’7hw 9?:2.

) ,@(K(}’\: XY, o W n J & W,
[fl XI(X‘/?“QXA/ Y35, Y, i Moo oo —
)y L Yy %4 f > ‘o ) \ y
00 /&(Xy =X, >/<,l yﬂ//,b f;w ,3;” &/:( gm
e) Ly t/\ Y o 2 ol _
0 fr(x(/\ ZXA/2’2<2/4 ' i "~ _
9) LI = Dot vy, o "t i
& >:szc£>yw”/“/”))’ SR “”’“’%/0/
~ ) x v/, lp c 0 o (6
Ll — 1IN - 722248 - i
e\)i M= Ay T (0)/ y = 7) ’ o)t pordd.?
Limpein, g) = 4 (3), G20 wapis

6(/(/1,,‘7 /(f/(?a 4 ’/’*/’:0}:\0//%«7\‘*6/”2«‘/):0%‘4

{) lﬂﬁwm bOA = 2y, -2y, == (207, = 2%y

=~ Lx y\
plov e y) = 2 sy -9 q@:ﬂ{h = . T fy
i ) e (2] )

L= éﬁ‘w 1. Avﬂw,,,‘,,,‘;d /},n"‘%Qyn«wW t/ofw.,/{&v/ U %’/;Mmﬁ’x/ & 14(/0»%:

Bl ayapy) = o p (y (' x) = = [ ly, )+ 01y
&«nv(’o/m. Li, »«AA

= W(}(x,7\+/§ f;(x .




(,">anﬂzL: </§:),/Zﬂ\>j§”7ﬂ J“i’?

\

CAO)> = <(’%’) (“%:;7:\>

2]

= 5 (7/7,“14;)+ iz /4744?77\ 2514 *3/7 +§"7 *7544

'L

RSYVIPERS 3% WS

(Ao f\sw«m )
» Ltants A in X («X‘*lﬂﬂX’,y> ... = <><<7<‘1> + /L,(x y>
»‘Poﬁ\;\/ O(LLW\{’/?) <X’K>/“r =7 fﬂl,p? 22 4 75}
,:/?'1422;1*?; JriwaLil END,
(5enV e
R SEVE SR AP S A
Q/ﬁ/‘\/i \/\/\/
”fﬁm =0 w/ ’0 p{j\ g { 0
oAb x = /3”\ o
~ foon I, = ~A/<x (,,“”; 1
SJ%/M’A/m; ”{‘«’/ T 7 7

/



E;“/‘&A\(fkrﬂ'c o S‘two(o,;o/vg@ iKéEfL/' //X//?ﬂ% fx(jz 3‘4{ ,7?

" vl Now (M) (e B //XZ;AJ%:?)«[L 257105 503 VM

66.: 1y’ 47%74?7 - 11
A

(=) X+><y y:

(£ YT ay' = E//j’pg
PI(\//(,\/I é}% e
Conthry- S | <xg2) = -yl (D g
5\ ;) - e a\y G
Bspe xy e ><f[é\/ y(/;\ N)?Z’Oq,\‘fjﬂ (7))
oy <> %\:wwfw
B s v2[1), )0 /3) ~1-3-443) £ {153 - 917y
g = -4 =gy
1
p. = O [oa]) )= jﬁ [o,n}vﬂ/' lsﬁvf\j}
/! r‘n’/l_’7
dy> = J’Z({\e} Mf A Y= S ol
A )
Canchy: Shosn. | {0/ Wit] 2 Fude 4[3/%)%5
d . RN
RS W I R 20 N e TRV R S L
g - 0z Ea 37

Z"-ﬁ =



(13 Wawd e SP . l(o Yihmﬂ‘ﬂhri K,>/ éZ/Zm, o= X/X,;/\

Do on:
TEXTET) (Mq:(l‘awcl _
vy roomieet, d.b. hll=p =M= cos o= <x,y> e
] X o
/ x /Wn
\ / [ W\.’);(LO)
| Hsec
=)
/DUNA\'LD"Q&»" Ccos- (?99\/) - Do( /Df(/%%«j Us
YA \(0’91/\9{!,\ Drefsirds Yo > .
IV N WA I ”\:;ng )7 [ 7
L 0 5 lnoa) s, T2
4 N heuin
AN AN E A PN
( “’L/ (%’ b ,%/ 5,,". \ 9')'\9!':,\/{*7(6&]’7
nn - I/ A o(::,l
Siner: 542 rosec? 7
b 8=, )
<X/ /‘\/S
/ x| y>
<xIAly> 7
L x| Ny
/, /47 Y V/‘Q’/
»
<AX/ y> x" Y
7-\ /

/) Ctgim. ///! ;/,(65/&{}/




